
Finding the mean from a table 

1. Find the mean of the rainfall (1dp) 

 

Rainfall in cm (r) Frequency (f) 

12  10 

13 8 

14 6 

15 4 

16 1 

 

2. Find the mean speeds of these runners (1dp) 

Speed in s (s) Frequency (f) 

20 12 

21 15 

22 14 

23 18 

24 22 

 

3. Find the mean height of these seedlings (1dp) 

Height in cm (h) Frequency (f) 

2.1 2 

2.2 4 

2.3 3 

2.4 5 

2.5 8 

2.6 4 

 

4. Find the mean distance run (1dp) 

Distance in m (d) Frequency (f) 

100 21 

110 25 

120 30 

130 45 

140 46 

150 49 

160 50 

 

 

Mean = 13.2 

Mean = 22.3 

Mean = 2.4 

Mean = 135.7 


